
Anglais	langue	seconde	–	4e	année	
	
Communication	orale	Voie	A	
	
	

Copie	type	de	niveau	1	
	
Justification	
Le	groupe	d’élèves	n’a	pu	poser	des	questions	simples.	Ils	ont	
utilisé	des	mots	en	français	dans	leurs	phrases.	Ils	ont	eu	de	la	
difficulté	à	s’exprimer	en	anglais.	Leur	vocabulaire	est	très	limité	
et	ont	souvent	de	la	difficulté	à	formuler	des	phrases	complètes.		
Pour	la	partie	B,	l’élève	n’a	pas	pu	identifier	aucune	idée	
principale.	
	
Copie	type	
Le	travail	de	l’élève	débute	à	la	page	suivante	et	voir	fichier	audio.	
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